M 8% ; ,II M8 SERrIE

Framithg: 3. 4. 5. 6. 8t

Pins Number: 34 5 6 8 pins

REBIMIERERS360°IRIES MK

Most connectors are excellent for full shielding at 360 degrees

ik Ax, FBFERN (KEUERES)

Plug: assembly, overmolded cable type (length can be customized at will)

TBEE: RETREK. RERRKIFLRPCBRT

Socket: Front Mount Solder Type, Back Mount Solder Type and PCB board type
BKER: IP65. IP67
Waterproof grade: Ip65 IP67

FERAEAEIEC 61076-2-1044R4

Products comply with IEC 61076-2-104 standard

[ | AR\ 1)
A[ ‘lﬁ:éi ProbucT PARAMETERS

SR IRHTEL  BASEO/RESR  EMENR <5mQ

Shell materia Brass nicke kel-plated tact impedance

BHME RAME/BR R 25001 cyces
i s B S BBIER >100MQ

13| www.caznelectrics.com sales@caznelectrics.com



an BIR/RES

PrODUCT FIGURE Name/Type No.

BERXABRESEMRL 2=t e

M8 Straight Female Metal Plug (Solder PG)

080001-04 A 0 00000

[No.osoomn | [a:34] 1-C] [Lmm)
2-PUR

3-TPU

4-RU

5-PTFE]

BEXHEEEMAL mEt o

M8 Straight Male Metal Plug (Solder PG)

080002-03 A 0 00000

T
s 2
[No.osooo2 | [A:34] 1pve| [Lmm)
2-PUR .
3-TPU
4-RU
5-PTFE|
EK}LEEHQ?E* )&= PG 40~45

M8 Straight Female Metal Plug (Solder PG)

080003-04 A 0 00000

@12
M8x1
]
o5 |

[No.osooos | [a:34] e [Lmm)
2-PUR
3-TPU
4-RU
5-PTFE]
B BB RRIESL it PG 26050
M8 Straight Male Metal Plug (Solder PG)
080004-04 A 0 00000 T —
[No. 080004 | [a34] 1-PVC | |L(mm) 1=
2-PUR
3-TPU
4-RU
5-PTFE
BEXFL B EBRAESL 5t pe 42~45 ‘
M8 Straight Female Plastic Plug (Solder PG) ‘
080005-03 A 0 00000 jﬁ -
i 9 g[
s =
[No.osooos | [a:34] 1] [Lmm) L —t
2-PUR
3-TPU
4-RU
5-PTFE
BH B BRIESL 25t pe 6
M8 Straight Male Plastic Plug (Solder PG) ‘
080006-03 A 0 00000 o 7[
[No.osooos | [a:34] 1] [Lmm) —
2-PR
3-TPU
4-RU
5-PTFE]

38

BR AR BRIAEL 255t pe

M8 Angled Female Plastic Plug (Solder PG)

080007-04 A 0 00000

[No.osooor | [a:34] 1] [Lmm)
2-PUR

3-TPU

4-RU

5-PTFE]

BHBBRIEL pawt pG

M8 Angled Male Plastic Plug (Solder PG)

080008-04 A 0 00000

No. 080008 A:34 1-PvC | |L(mm)
| N | 2-PUR

3-TPU

4-RU

5-PTFE

CAZN |14



an BIR/EES RE

PrODUCT FIGURE Name/Type No. DIMENSIONS
JER#EFL/ Unshielded
R/ Shielded BRI B R EEL 36.5

M8 Straight Female overmolded plug

080009-04 A 0 00000 .
= %
UNS: No. 080009 A:3468 1-PVC L (mm)
N \w‘ B 2-PUR L)
> : 3-TPU
v 4-RU
5-PTFE
JER#EFR/ Unshielded
IR/ Shielded E:_Et}l,ggﬁiﬂ?ﬁ B
M8 Straight Female overmolded plug (with damping)
080011-04 A 0 00000 .
s 2
& - UNS: No.080011| [A:3468] [ipvc| [L(mm) : %
“/ 4 SHD: No.080012]  |B: 5B 3-PUR
; : 3-TPU
4-RU
5-PTFE
JER#ER/Unshielded
R#GR/Shielded B R R R SL 414

M8 Straight Male overmolded plug

080013-04 A 0 00000 ﬁ
) j
aQ
=
UNS: No.080013| [A:3468] [1-pvc| [L(mm)
SHD: No.080014| |B:5B 2-PUR \—‘ —
D: 4D 3-TPU
4-RU
5-PTFE]
JER#ER/Unshielded
FRER /shielded BERBRAEEL om0 41.4
M8 Straight Male overmolded plug (Metalinterface)
080015-05 B 0 00000 -
— T = 5 3
; UNS: No.080015| [A:34 1-PVC | |L(mm)
\\\\ SHD: No.080016| |B:5B 2-PUR
\\\ - 3-TPU
4-RU
5-PTFE
JER#ER/Unshielded
RS Shielded B RAEE sue e
M8 Straight Male overmolded plug (with damping)
] 080017-04 A 0 00000 -
o~ = <
2. 2 8 3
Loak UNS: No.080017] [A:3468] [1-pvc| [L(mm) 1
2 SHD: No.080018| |B: 5B 5-PUR
4 D: 4D 3-TPU
4-RU
5-PTFE
35.3

JEBR#R/Unshielded
R#&#R/Shielded

T AL B RS

M8 Angled Female overmolded plug

080019-04 A 0 00000

UNS: No.080019] [A:3468| [1-pvc]| [L(mm)
SHD: No. 080020 B: 5B 2-PUR

D: 4D 3-TPU
4-RU
5-PTFE

JE R/ Unshielded
FRI&FR/Shielded %‘E\T%‘I‘g‘iﬁiiﬂ?ﬁ%

M8 Angled Male overmolded plug

080021-04 A 0 00000

UNS: No.080021] [A:3468]| [1-pvc]| [L(mm)
SHD: No.080022| |B:5B 2-PUR

D:4D 3-TPU
4-RU

5-PTFE

JER#ER/Unshielded
FRIFR/Shielded

TERHBMEEL 0

M8 Angled Male overmolded plug (Metal interface)

080023-05 B 0 00000

— HL =

UNS: No.080023| [A:34 1-PvC | |L(mm)
SHD: No.080024| |B:58 2-PUR

3-TPU
4-RU
5-PTFE

|




an BIR/EES RE

PrODUCT FIGURE Name/Type No. DIMENSIONS

B AR BMESL mst

M8 Straight Female overmolded plug (push-pull)

080025-05 B 0 00000

No. 080025 A 34 1-pvC | [L(mm)

B: 58 2-PUR
3-TPU
4-RU 30
5-PTFE

89
85.7
1
A

BB BESL himst

M8 Straight Male overmolded plug (push-pull)

29
26.9
A

080026-05 B 0 00000

No. 080026 A34 1-pvC | [L(mm)
B: 5B

2-PUR
3-TPU
Al 32.45

5-PTFE

JER#ER/ Unshielded

FF#gR/Shielded 43.5

— " FLEIRR B

M8 Female 1 to 2 overmolded plug

UNS: No. 080027 A:3468 1-PVC L (mm) =
SHD: No. 080028 B: 58

. : @ |
X il

JER#RER/ Unshielded

FR#gER/Shielded 48.5

—7 St BUpLERSL

M8 Male 1 to 2 overmolded plug

080029-04 A 0 00000

’:li‘|7—‘

UNS: No.080029| [A:3468] [1-PvC| [L(mm)
SHD: No.080030| | B: 5B 2-PUR

3-TPU
4-RU

5-PTFE

R AT R BUREE 545 27FMex

M8 Male Front Mount Socket (Solder, Screw M8*1)

080031-08 A 0 00000

No. 080031 A:3468 1-PVC L (mm)
B: 5B

2-PUR
D: 4D 3-TPU
4-RU

5-PTFE]

R A 225 £ BUAE BE pcest s 5 Mex]

M8 Male Front Mount Socket (PCB, Screw M8*1)

080032-05 B 0 00000

No. 080032 A3468 22 L(mm)
B: 58

D: 4D

RET RS E BURRE 225t 25 Mex) @E 0

M8 Male Front Mount Socket (Solder, Screw M8*1) (Metal interface)

> 080033-04 A 0 00000
No. 080033 A:34 1-PVC L (mm)
B: 5B 2-PUR
3-TPU
4-RU
5-PTFE
HRBITR B BRI pcest T Me 2R 0 -

M8 Male Front Mount Socket (PCB, Screw M8*1) (Metal interface) y JE— —=7 R
NX Q -
080034-04 A 0 00000 o] 2 3 S
No. 080034 A34 % | [Lmm) . ‘
B: 58 7.2
16.5

OAZN |'I6



PRODUCT FIGURE

BIR/RES

Name/Type No.

SE

DIMENSIONS

RBT R FLEMREE m4 = 25 Mex . AR
M8 Female Front Mount Socket (Solder, Screw M8*1) — o7 -
ool X = -
080035-06 A 0 00000 -2z g ©
No. 080035 A3468] [1-pvc| [L(mm) — )
Z g: 3BD 2-PUR 7.2
: 3-TPU [
4-RU 15.5
5-PTFE
IR AR %L ELME BE peBst s M8 7 -
M8 Female Front Mount Socket (PCB, Screw M8*1) — BT _
N ol X o -
080036-05B 0 @ﬁ)OJ—‘ - 2|2 o ©
No. 080036 A:3468| [## | [Lem) )
o 7.2
) 15.5
IRBTREEFLEMREE 7o 1945 25 Mex FART

M8 Female Front Mount Socket (Solder, Screw M8*1) (bullet type)

080037-04 A 0 00000

No. 080037 Ar3468| 11-pvC L (mm)
B: 58

2-PUR
D: 4D 3-TPU
4-RU

5-PTFE

RS 2= B R J5 2=, 25 Mex)

M8 Male Back Mount Socket (Solder, Screw M8*1)

080038-03 A 0 00000

No. 080038 Ai3468| [1-PVC L (mm)
B: 5B

D:4D 3-TPU

M8 X1

17.8

[l
#8.5

FILRT

28.1

7.2

]

RJE L2 BUH BE pe=; sz Mex

M8 Male Back Mount Socket (PCB, Screw M8*1)

080039-04 A 0 00000

A3468 4
No. 080039 s &t | [Lmm)

D: 4D

M8 X1

o

FHIRT

28.1

R REHBERE 245 8 Tved2ED

M8 Male Back Mount Socket (Solder, Screw M8*1) (Metal interface)

080040-04 A 0 00000

No. 080040 A34 1-PVC | [L(mm)

B: 58 2-PUR
3-TPU
4-RU

5-PTFE

M8 X1

17.8

[l
$8.5

FIRT

28.1

G 2 HBUH EE pep=t o Mex] 2B

M8 Male Back Mount Socket (PCB, Screw M8*1) (Metal interface)

080041-04 A 0 00000

’:li ‘Ii—‘
No. 080041 ég 284 & | [L(mm)

M8 X1

/.2

|

R R EEBMREE ma= 7M1

M8 Male Back Mount Socket (Solder, Screw M11*1)

080042-04 D 0 00000

No. 080042 A:3468| |1-pvc| [L(mm
8158 [cmm]

2-PUR
D:4D 3-TPU
4-RU

5-PTFE

M11x1

MBX1

FHRT

?911.1

810.1




BIR/RES

Name/Type No.

R /g LR HEE BMEREE pca=t 12FM11x1

M8 Male Back Mount Socket (PCB, Screw M11*1)

080043-04 A 0 00000

No. 080043 A:3468 EZ L (mm)
B: 5B

D: 4D

M11x1

MBX1

SE

DIMENSIONS

FILRT

2111 ‘

810.1

R REFLBEEE 2220 25M11x

M8 Female Back Mount Socket (Solder, Screw M11*1)

080044-04 D 0 00000

FHRT

0111 ‘

X
No. 080044 A3468| [i-pvc | [L(@mm) =
B: 5B 2-PUR
D:4D 3-TPU
4-RU $10.1
S-PTFE
e R EFLBREE pca=t 87 M11x1 FILRYT

M8 Female Back Mount Socket (PCB, Screw M11*1)

080045-04 A 0 00000

08004 A3468| [&m| [0
No. 080045 (A (mm)

D: 4D

M11x1

0111 ‘

‘ @10.1

RERIRFLBIREE 542 s2FM120

M8 Female Back Mount Socket (Solder, Screw M12*1)

080046-04 D 0 00000

No. 080046 A13468| |1-PVC| |L(mm)
B: 5B

2-PUR
D:4D 3-TPU
4-RU

5-PTFE

M12X1

FILRT

8121

210.1

/5 3= LB BE pea=t 25 M12x

M8 Female Back Mount Socket (PCB, Screw M12*1)

080047-08 A 0 00000

] A3468 i L
No. 080047 o (mm)

D: 4D

M12X1

M8 X1

9121 |

isliie

210.1

RS R B BE peest sa o Mex 1

M8 Female Back Mount Socket (PCB, Screw M8*1) Grounded type

080048-04 A 0 00000

[No.csooss | [A3468] [%# ] [Lmm)
B: 5B

D: 4D

|
&
A
=

98.1 ‘

RS R FLEIH EE pca=t 4257 M10x0.75 b1

M8 Female Back Mount Socket (PcB, Screw M10%0.75)
Grounded type

080049-04 A 0 00000

No. 080049 A:3468 EZ L (mm)
B: 5B

D: 4D

M10X0.75

6101 ‘

SHBYZSEHR R peBst 257 MB A

M8 Angled Male Back Mount Socket (PCB, Screw M8*1)
Grounded type

080050-06 A 0 00000

A 3468 ] L
No. 080050 AN (mm)

D: 4D

Epoxy

15.35
6.3
[

—

FHRT

12.540.1

|18



BIR/RES

Name/Type No.

FLBV S EHERE pcast 277 M10x0.75 iR

M8 Angled Female Back Mount Socket
(PCB, Screw M10*0.75) Grounded type

080051-06 A 0 00000

No. 080051 A:3468 bt L (mm)
B: 58

D: 4D

M10%0.75

'

L
¥

7.68 j E

10.13+0.1 12.540.1

¢10.1

FLEVES ST YR BXATRER pCBt 1257 M10x0.75 FhiEst
M8 Angled Female Socket (PCB, Screw M10%0.75)

080052-05 B 0 00000 g
No.osoos2 | [B:s8]  [&#] [Lom)] i povt
YUK pssa
M8 Y Type Adapter (Pss)
080053-04 A 0 00000 é
[No.osoos3s | [a3468] [1-PvC] [Lem)
2-PUR
3-TPU
4-RU
S-PTFE !
TEUESL pssa
M8 T Type Adapter (Pss) =l o
- (o=N) g
080054-04 A 0 00000 g
[No.osooss | [a3468] 1TRe) [Lom
3-7PU
4-RU | mex1|
5-PTFE 10
I BV B IB 4R AE psr s25M1 1) -
M8 I Type Adapter (PS) (Screw M11*1)
080055-04 A 0 00000 °of % x| x i
== S| = s
A w'! =y =
No. 080055 A34 1-PvC | [L(mm)
= B: 5B 2-PUR [Liom)] 75 185 10 ‘
3-7PU 2 : —
4-RU 29
5-PTFE
I BUEB R LR Sk por

M8 I Type Adapter (PS)

080056-04 A 0 00000

—

No. 080056 A:3468 1-PVC L (mm)
B: 5B

2-PUR
3-TPU
4-RU
5-PTFE

AR IR L iR HERSL 1200

M8 Female Ohm terminal plug 1200

080057-04 A 0 00000

No. 080057 A3468| [1-pvc]|  [L(mm)

B: 5B 2-PUR
3-TPU
4-RU

5-PTFE

36.5

HERIB L iRHESL 1200

M8 Male Ohm terminal plug 1200

080058-04 A 0 00000

No. 080058 A:3468| [1-pvc]  [L(mm)

B: 5B 2-PUR
3-TPU
4-RU

5-PTFE

19

OAZN




M 8 ° BEEEJ:%-_ M8 Dust Cover

M8 EEH?&I?HEE%& A ZF M8 Plastic Dust Cover (Inner screw)

. FRER
Ring inner diameter

5SS
No.

& 75mm

080059-000000001

M8 ¥BRIF A2 HhEF M8 Plastic Dust Cover (Outer screw)

- FRER
Ring inner diameter

RS
No.

& 7.5mm 080060-000000001
8 > 8 Pla D over (Oute
'R T8RS
Ring inner diameter No.

d M8

080063-000000001

M 8 ° EE,’E\,%%I M8 ELECTRICAL PARAMETERS

_ HAEE
Ring inner diameter

TS
No.

& 8mm 080061-000000001
& 10mm 080061-000000002
atD over (Oute
Ring irifn?radﬁmeter ﬁl\%%

& 8mm

080062-000000001

& 10mm

080062-000000002

EE B E EARFE
ST Rated voltage Co?ductor Scilze FLE! Female
Ratedcurrent A/C D/C AWG mm?2
3 1@3 3A 60V 60V 24 0.25 30 o)1
? N 1 4@ o ’ (1@
ABJ(A-Code):3A
4 1@3 2@4 DE(D-Code)-an| OOV 60V 24 0.25 31 4(0,9)2
3 3
2 4 4 2
oo
5 13 3A 30V 30v 24 0.25 31
5 5
4 4 2 2
5 3 5 3 3/0\5 5, 0\3
6 % 6 @ s 1.5A 30V 30V 26 014 |el20® 6
a2 N2 299 1 5
5 5
Ceo ol 600"
8 73 1.5A 30V 30V 26 0.14 3 ©©© 7
PRa= ! 8 2 1

AZN

20



M 8 * PCB;'L\-Sﬁ‘Z M8 PCB PiNs ARRANGEMENT

= 4 4D 58 6 8
215 1.95 35 B
312 o, 8 o L1 % . 29 o
SO | e | e, @ T Je . =
D > [ - ) B
- s W o £}+ - AN NSY S
= - - N /&?}%/ A P
- 3.3 34 i A < ‘ 275 - Ll_?J S

AL LS
Pins Wire core color

Fisyiva ZIOEE
Pins Wire core color

4TAGRTG (4 Pins A-Code) 485D4R (4 Pins D-Code)
1 BN 1 BN
2 - 2 WH
3 BU 3 BU
4 BK 4 BK

LINEE

Wire core color

SiA%REG (5 Pins A-Code) 5iB4AB(5 Pins B-Code)

LIS

Wire core color

g (
1 BN | BN ] 1 BN
2 WH . wH ] 2 WH
3 BU 3 BU
4 BK 4 BK
5 GY GY 5 GY
6 PK

LINEE

Wire core color

81t(Pins)

00 N Oy U1 | (W N =
0]
<

RATEMREIAE, MRINNEE BMERRE WS,

Wiring definition according to conventional standards, if according to the agreement or other please contact our sales.

21| CAZN



